3/4

Monday, March 4, 2019 14:25

le Mmd — Uv\w“‘d"}{)
o=

Q=07

X = Cos (2T w)

\/(m = gn(2T w)

X &y ot un weatdatel:

Elxy)=0.

oot X &y ove ot depondovd

C]')Q?_b_,' \-O.Q Xt)‘..)xv\ QL' wf‘h« X\,YJGL, VL#“)
Lot X=X+ +X = T

\}w(X) = V\Z__\Iof@(-) +
- Dt 2L D Ceu(x,

X.).
(<] gt

e Vo= E (%)) =E (208 23 %% )

\/_\,\) L<J
>0 T
sl

b 5 i et e
\/N(X\ = V\Z—,‘\ld(xz) ,



T 2 ovmiod ,>I(§,)\” byt o
M o< p< | s QJE@-:VP-

WA >< 7»‘\‘ W hace A zAz, Ay, .

L Sh;X.+~+X“} so cheﬂ)

SV\<U~)> = Hit—h: WCA-LH

'rO( K=o, . n, P{S JK)‘( )

w-k

P e

Es.)= LEC) = np

\/"\/(Sv\\ — —7:_- VN(XL) = V\(P(\—P)Z+(1~P)1§-) = npQ-p)
=t

T e /QL Cu\g,c rombens for Bl Triodo

\e)

MA V\/——? s we “?/Xfﬁd'w n - P ™M gbmg-e/vx.ge

/‘\/\JL LZ \Weak Cinws m@ La\»?ﬁ nowmbers

\,Ut Y., X’L) ) S = l_z be  Pairwise wneovredate,)

Page 2



/?;E E[(X_STH)LJ — \/o\r<x|+'y\“+xv,>:_|_i\[0x(xs) = " aNi- N

KXW (ﬂ/\,b +t} P{/\/\‘ff"’w S eq e ce)

Lot BQ: (o, 1)
B| = [:O’l(),)l B ____Lt/z ‘)

7

Foc eath  coef2, (\V\/\—S’:jo V(w) =1 .

‘\\n/\\\\-t yv\(,v,\) = 0.

n—oe

So p( (T \/n -?/;4\‘%1-3) — o

h— oo

B@\FY\SJVUV\'S \Y\qua\f/ﬁ"j ﬁ—Uﬁ O <« P =< |




Becnsteins Mj det o< P < |

et A Waty As , be wdepondont e
Wik p(A)=p Ve W e T S = Xe ok

n ny

b]t €>0, ne N. Thom P(%\L; P+£>,4_ exp(—%in)

l?i j;u(j v o= Inprel, 1=1"P, oawd N> 0.
Uene P (55 >
P( vy /‘P+z>_—: P(SY‘Z Y\(P+£)) = Z__ P(S“—_—\‘) = ZV‘: (:)PKan—K

- s(k-npread
6 L e (L‘) FK iv\-k

kK=m

€~’)\EV\ Z 6A(Pk teK —pm
- n © -
(%)r ¢
k=m

I

K=m

~Nen 2 K
=e 2 (W) (1) "

=0

= " (Pt

N ow \Vl’Ke R * < o
) Q - ,X + 'e (See "/\AL (J_/va\ w\/\\'cl/\ Pa[bw§>

Lo be  contimued. . .



